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2019
SURVEYING-II

frutfa g : f= e - [3TRrewaw 3% : 70
Time allowed : Three Hours] [Maximum Marks : 70

A () FHHIF ARG E 99 7 G fral gig & IR o |
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) FeIP F¥ & Gt YT H FHAR TF Grel &7 Hiford |
Solve all parts of a question consecutively together.
(iii) XAF Fo7 F 79 Y8 8 IR i |
Start each question on fresh page.
(iv) 1 T3t & 37 817 #1 IRF 7 8 sgare a8 1

Only English version is valid in case of difference in both the languages.

1. frafafga « g8v d o
Explain the following in brief :
() TRrreemse o ferpiv %1 Gshmo
Transiting of telescope in theodolite.
(i) ATET-3EA " e
Closing error in traversing.
(iii) feradfictt # fr aw fafyr
Fixed hair method in tacheometry.
(iv) & IR T3 | a1 g
External distance in simple circular curve.
(v) T aee |

Trigonometriéal levelling. (2%5)

2. (i) TrSemse T e % am faw qen 3 aifed aei ) @ |
Write down the name of fundamental axis of theodolite and explain the desirable
relation in between them. : 6)

(i) FrSienge grn Fwter wivr AR 6t faftr w61 9o Hife |

Describe the process of measurement of vertical angles with the help of
theodolite. (6)
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3. () fr= aroft A uw s wren-Y@ ABCDE ! @it Y s ue fepum fed md # )
31T HA} <6t o H |
@ o () feam
AB 505 98°30'
BC 625 30°20'
CD 470 298°30'
DE ? 230°0'
EA ? 150°10'
The length and the bearing of the lines of a closed traverse ABCDE are given in
the following table. Calculate the omitted measurement. 8
Line Length (m.) Bearing
AB 505 98°30'
BC 625 30°20'
CD 470 298°30'
DE ? 230°0'
EA ? 150°10'
(ii) Tereht TTen-Y@n % Hqe Bg Sifew faf = wngm |
Explain the Bowditch’s method for balancing a traverse. 4

4. Prenrofirdta qeemo fafy gro e famg 61, Rt smum s R, S @ @few g R
T H ATt } TfH QT ITHTT RIA Tk & SR 7t § T gHl ITh-3E Th &
SR WA ?

How is the height and horizontal distance of a point, having base inaccessible is

determined by trigonometrical levelling method when both the instrument stations are
in the same vertical plane and both instrument axis are at the same height ? (12)

5. U it o Ry P W =i fomam T qen Q W iR W@ ™ W 2,225, 2.600 9
3.550 UtgaTe ford R, e gfY Y@ 1 Hor +8°30' o1 | T I qt fag W FwEtw wA
T U 1.645, 1.925 9 2,205 o A wa gy T@n +1°10' S BT R At | P Q% A
gfew gft 3@ e | @ Q = wwHia aet s iy, A a@ fus +1 TR @@
420.20 HeT 2 | 39T S fRRIH 1009 0.3 9 |

A tachometer was set up at station P and the readings taken on a vertically held staff at
Q were 2.225, 2.600 and 3.550, the line of sight being at an inclination of +8°30’.
Readings on the vertically held staff at B.M. were taken as 1.645, 1.925 and 2.205, the
inclination of line of sight was at + 1°10’ angle. Determine the horizontal distance
between P and Q and determine the reduced level of Q if the reduced level of bench
mark is 420.20 metre. The constants of instrument were 100 and 0.3. (12)
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6. (1) & Sftan @ Hifes fafty gro oot oefta T ) Premaed ) when w5 anmme |

Explain the process of setting out a simple circular curve by “ordinate from long

chord” method. ®
(i) et TshHoT 3k W GHATR |
Explain the ideal transition curve. @)

7. G EEEu H 8 3 el YT 1 Hag | quig HIf |

Describe the instruments to be used in mine surveying, in brief. (12)

8. o w dftrm feoaforat forfiam
Write the short notes on the following :
(i) T-2RraEiemse
T-2 Theodolite
(i) HER TS
Substance Bar
(iii) T RIA .
Total Station (4x3)
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